
©N F2q0p162m LKQuBtYam HSPoUfWtNwWa7rEee 3LsLqCt.k s KAMlllu VrqiZgYhOtds1 irDeNsbeIr6vjecdx.z W pMBaidGeI ywmihtMhl lI BnOfAihnZijtjev yAilig8eCbtrKaj I2K.5 Worksheet by Kuta Software LLC

Algebra 2
ID: 1

Name___________________________________

  Period____Date________________
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Assignment

Factor each.

1)  

   

x3 + 1 = 0 2)  

   

x4 − 8

  

x2 − 9 = 0

3)  

   

x2 − 25 = 0 4)  

   

x2 + 6

  

x + 9 = 0

5)  

   

x2 − 3

  

x + 2 = 0 6)  

   

x2 + 4

  

x + 4 = 0

7)  

   

x2 + 2

  

x − 15 = 0 8)  

   

x3 − 64 = 0

9)  

   

x3 − 4

  

x2 + 2

  

x − 8 = 0 10)  

   

x4 − 

  

x2 − 56 = 0
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11)  

   

x4 + 9

  

x2 + 20 = 0 12)  

   

x4 + 13

  

x2 + 36 = 0

13)  

   

x4 + 15

  

x2 + 54 = 0 14)  

   

x2 − 

  

x − 20 = 0

15)  

   

x3 + 125 = 0 16)  

   

x4 + 11

  

x2 + 24 = 0

17)  

   

x4 + 2

  

x2 − 24 = 0 18)  

   

x3 + 8 = 0

19)  

   

x2 − 9

  

x + 20 = 0 20)  

   

x3 − 

  

x2 + 4

  

x − 4 = 0
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Answers to Assignment (ID: 1)

1)  

 

(

   

x + 1)(

   

x2 − 

  

x + 1) = 0 2)  

 

(

   

x − 3)(

   

x + 3)(

   

x2 + 1) = 0 3)  

 

(

   

x − 5)(

   

x + 5) = 0
4)  

 

(

   

x + 3)2 = 0 5)  

 

(

   

x − 1)(

   

x − 2) = 0 6)  

 

(

   

x + 2)2 = 0 7)  

 

(

   

x − 3)(

   

x + 5) = 0
8)  

 

(

   

x − 4)(

   

x2 + 4

  

x + 16) = 0 9)  

 

(

   

x − 4)(

   

x2 + 2) = 0 10)  

 

(

   

x2 − 8)(

   

x2 + 7) = 0
11)  

 

(

   

x2 + 5)(

   

x2 + 4) = 0 12)  

 

(

   

x2 + 9)(

   

x2 + 4) = 0 13)  

 

(

   

x2 + 6)(

   

x2 + 9) = 0
14)  

 

(

   

x − 5)(

   

x + 4) = 0 15)  

 

(

   

x + 5)(

   

x2 − 5

  

x + 25) = 0 16)  

 

(

   

x2 + 8)(

   

x2 + 3) = 0
17)  

 

(

   

x − 2)(

   

x + 2)(

   

x2 + 6) = 0 18)  

 

(

   

x + 2)(

   

x2 − 2

  

x + 4) = 0 19)  

 

(

   

x − 5)(

   

x − 4) = 0
20)  

 

(

   

x − 1)(

   

x2 + 4) = 0


